Length Word Problems

1. Mona’s hair grew 7 centimeters. Claire’s hair grew 15
centimeters. How much less did Mona’s hair grow than Claire’s
hair?

2. Susan grew 15 centimeters and Tyler grew 11 centimeters. How
much more did Susan grow than Tyler?

3. Bob’s straw is 13 centimeters. If Tom’s straw is 6 centimeters,
how much shorter is Tom’s straw than Bob’s straw?
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Length Word Problems

1. Mona’s hair grew 7 centimeters. Claire’s hair grew 15
centimeters. How much less did Mona’s hair grow than Claire’s
hair?

15-7=8

Mona’s hair grew 8 centimeters less.

2. Susan grew 15 centimeters and Tyler grew 11 centimeters. How
much more did Susan grow than Tyler?

15-11=4

Susan grew 4 centimeters more than Tyler.

3. Bob’s straw is 13 centimeters. If Tom’s straw is 6 centimeters,
how much shorter is Tom’s straw than Bob’s straw?

13-6=7

Tom’s straw is 7 centimeters shorter.
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